M 5710 - Fall 2013
Quiz 1

Your name ......c..coeeveenn..

1. Solve, using Lagrange multipliers method

minx% + x% + :cg — x1 + x9 + 3x3 subject to x1 + 2z9 = 1.
x



2. The network is shown in the figure:

Derive the formula for the current through the resistor Rs.



3. The triangular lattice was the first model used by Cauchy to derive
equation of elasticity. Using the symmetry, the problem can be reduced to
the two-rods network. Compute vertical uy and horizontal ugy displace-
ments caused by vertical force F' = (0,1). What are the specific displace-
ments €

ug Uy
= N X 3 €Eg = s N 5
vertical distance’ horizontal distance’

and the ratio between them?



